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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3T : Rt g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1. Ffafea & 9 a9-9 fTem @ 98
fagwar 7 & ?
(1) fawma & oRads @xar @
() T T waa e |
A HEwEqel T &
(3)?25@1@25 Yo @A e

(@?ﬁﬁﬂﬁ%ﬂﬁﬂ%ﬁﬂmsﬁ

2. frefatad § & -4 &l & A9
=g v fafy & 7
(1) T i Feheiehl
(2) usEEt
(3) ¥% fee

(4) rEEh R

3. ‘T YT B STER 1 B © ¢
(1) | GRS
(2) X Ui
(3) ST (1) T (2)
(4) SR | q B el

4. Frefatad & | dH-G6F 9T &) Jed
sl fame yhR e i L
78 &7
(1) FATHbE
(2) STSMaT!

(3) I Wd F Sifah HEES
T

(4) T ® MR W S & 9T
S g

Level-3/9206

1.

3.

4.

Which of the following is not the
true characteristic of Development ?
(1) Development involves changes
(2) Early Development is more
critical than later development

(3) Development Patterns

unpredictable

are

(4) There are individual differences
in development

Which of the following is indirect
method of measurement of motives ?

(1) Sentence completion technique
(2) Questionnaire

(3) Checklist

(4) Interview

What are the basis of 'Self Concept' ?
(1) Social Roles

(2) The Body Image

(3) Above (1) and (2)

(4) None of the above

Which of the following is not the

characteristic of introverted thinking

type personality as given by Jung ?

(1) Self Centered

(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

P.T.O.



[A]

16 a4 &% AY % A= H R
SRTRT foerer &1 STl & ?

(1) 750 I & 900 TH
(2) 1200 919 § 1400 7
(3) 1000 719 & 1200 7H
(4) 800 IH & 1000 IH

-4 FASE A AT IR
e it & Qafes 99 @
JeM+h &7 @ faae Teqa fom o ?
(1) it

(2) §Ft Tos &ve

(3) s

(4) X WG9 TMees

frefofeg & @ H9-91 T9@ENN &=
el qe § 7

(1) T4

(2) g

(3) YRR T SR
(4) gERHTT

frefofeg & @ #9-d
PRt d g QU T A
R & SUY @ed WX &

SR B 7

(1) T9€ TG STRHINT

(2) gmIiSTh STIeY

(3) ST TEHI/STBT Tshl
(4) FA AR IS e

134

Level-3/9206

[4]

. Which

. What is the approximate weight of

the Brain upto 16 year age ?
(1) 750 gm to 900 gm

(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm
(4) 800 gm to 1000 gm

Psychologist ~ presented
scientific description of 'Individual
differences' in his Book 'Hereditary
Genius' ?

(1) Allport

(2) Biggi and Hunt
(3) Jean Piaget

(4) Sir Fransis Galton

. Which of the following is Direct

Method of Adjustment ?

(1) Repression

(2) Regression

(3) Withdrawl and Submissiveness

(4) Rationalization

. Which of the following orientation

falls under the post convention level
of Moral Development Theory
propounded by Kohlberg ?

(1) Punishment and Obedience
(2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order



10.

11.

12.

13.

fr=ifeifeg & @ H9-di fheRrEn &l
faQrar 782 ?

(1) GameHs ReRan
) R g g
(3) Fa9™T &I =

(4) g G i Ae

ST M AT B B HIT TR
ﬁmﬁﬁaﬁsﬁ%aﬁ@@w
TfeT, FHedAld &

(1) foegaey faeere
(2) ol fren wEwT (IEP)

(3) APRIAHE L

(4) 9T &Y

frafofea & & #=-w1 ot wfq &

qer FET e 7

(1) e

(2) NEd arer

(3) &

(4) 98 ERE & G g W SR
HET

Frefefad & | ®iF-a1 G99 9T
& dMIe oM Rera 8 g
e ?

(1) HisfeiT

(2) AFHT

(3) SR

(4) MBS SARFH
aﬁ—eﬁr?ranﬁﬁasna—vr%aﬂww

AUNHT B WA GY T TUSHIG
Rl & A U ¥ AR § 7

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

Level-3/9206

[5]

10.

11.

12.

13.

[A]

Which of the following is not the
characteristic of Adolescence ?

(1) Emotional Stability

(2) Contrasting Mental Moods
(3) Anxiety of Vocation

(4) Feeling of Hero worship

A statement of knowledge or skills

that student should master after

instruction, is known as :

(1) A content analysis

(2) An individualized educational
programme (IEP)

(3) An instructional objective

(4) General Aims

Which of the following is not the

symptoms of Good Memory ?

(1) Rapidity

(2) Average retention

(3) Accuracy

(4) Recall of right material at right
time

Which of the following concept is not
related with  Bandura's  Social
Learning Theory ?

(1) Modeling

(2) Adaptation

(3) Imitation

(4) Observational learning

What is the ranking ratio given by

Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

P.T.O.



[A]

14

15.

16.

17.

18.

. R F AR ‘A e
%l el e -G e ?

(1) aRe™ BErar g9 g9
(2) 9BdM SFM Yo Hifel
(3) Fmedr aM faeT

(4) I g9H ReRar

Frefafed & & aF-w fowe a@
Yo GoTTeTRdl B O 787 & ¢

(1) et (2) STHaA

(3) T (4) A
frefefeg & @ @®9-a1 ofrm &
gITCeh TMTROT & YR 7e & ?
(1) II9d TR

(2) HiHEH R

(3) BifeeT =

(4) I SRR

Frefefed & @ &9-d1 BEs &1
Ue TR ST J87 8 ?

(1) QAgTEEeT

(2) T@E ST

(3) TETEET

(4) EmEeE

e ®Er & ‘“oMifee Shifed
Sig-SJall & X & G s
g ?

(1) &X fafead Aepg

(2) 9 WifeE e

(3) Ao TEEHEY

(4) faferm si=

Level-3/9206

[6]

14.

15.

16.

17.

18.

Which is the fifth stage of Personality
development according to Erikson ?

(1) industry v/s inferiority
(2) identity v/s role confusion
(3) intimacy v/s isolation

(4) generativity v/s stagnation

Which of the following is not the
element of creativity as given by
Guilford ?

(1) Fluency
(3) Flexibility

(2) Incubation

(4) Originality
Which of the following is not the
type of positive transfer of learning ?
(1) Lateral transfer

(2) Sequential transfer

(3) Horizontal transfer

(4) Zero transfer

Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage

(2) Autonomy stage

(3) Anal stage

(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures"” ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James



19.

20.

21,

22,

fr=ifoifeg & | S9-a1 e a=fem
T o o gl fafr 787 2 ?

(1) a9 gRecs & & srear dimr
# fafy

(2) R SEue i fafy
(3) Jraa sfe@T AT e H
(4) =T ARy & aRersH

@ FM & WY, A T
YAETeH & SR & & T SR
3 g8 feied d | fees gies

B TATT e 8 °
(1) = (2) AR
(3) WIS (4) 93T

U SO & e A o it
P WA G de F Tgaad D,
B9 H Sgaed Bedd, U9 @
SgaeH U9 I HA 4 el 7 Ae|
T SgaET el § AeHE S A
TE fhH THN & HARFH MR 6
JEEI B 7

(1) ST ST

(2) FMHE T

(3) g AR

(4) S S

Level-3/9206

[7]

19.

20.

21,

22,

[A]

Which of the following is not the

type of "Psychophysical Method" of

study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by
transforming, organizing and
re-organizing previous knowledge.'
This best explains the idea of which
of the following ?
(1) Piaget

(3) Freud

(2) Vygotsky
(4) Bandura

According to the  Cognitive
Development Theory of Piaget, "The
basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation
(3) Accommodation
(4) Equilibration

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer

(2) Negative transfer

(3) Zero transfer

(4) Vertical transfer

P.T.O.



[A]

23. fFefofad & @ d9-@1 SEU &

Ty /T faRe § 7
(1) AR

(2) ITed

(3) fomma

(4) TET I Ity

24. X BN SloUled  “UERE =E
Rt A K | s G B TR o1 A e et o B

deft 7

(1) it o1 Res=t

(2) 9 T JhR s
(3) UK f¥gT=

(4) AAaeATTeh e

25. fSeffad & & H9-91 ‘99W AFRS
e gl H e Al TR © 7

(1) 52 & 67
() 36 9 51
(3) 20 ¥ 35
(4) 20 § =

26. Ffofad § & HHE-81 TSR
Yo afdde [ 8g offes Al
TER &l T ?

(1) e ergy
(2) AEHE TEW
(3) fompeHt ergy
(4) TEEHL MEA S e ST

Level-3/9206

[8]

23.

24.

25.

26.

Which of the following is objective
determinants of Attention ?

(1) Interest

(2) Habit

(3) Curiosity

(4) Duration of stimulus

Murray's "Thematic Apperception
Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

Which of the following is 1.Q. Range of
'Moderate mental retarded' children ?

(1) 52to 67
(2) 36to 51
(3) 20to 35
(4) below 20

Which of the following is not the
type of life styles for the
development of personality given by
Adler ?

(1) Lazy type

(2) Ruling type

(3) Go-getting type
(4) Escaping type



27.

28.

29.

30.

Ao @@ g1 qhee § feew wiE
@ & fw o 8 ?

(1) 10

2) 12

(3) 15

(4) 28

Freifafad & @ @F-a1 9l & gie
9 @] 3 R ™ atka &7
JhR TET 8 ?

(1) Jsrt<as
(2) omfidie
(3) FHATTE

(4) el

frafafag & 4 sF-a1 dHSES 3™
Ue STRRTH T MoT/Herdsh a9 & ?

(1) deaXa &1 e
(2) IHE F |
(3) "R ght &1 FEH
(4) U9 H |

frfofag & @ d9-o feaimaeen &t

T8l faQuar 7&f e ?

(1) fpaaeen ST AR
%mww%ﬁaa%qﬁa?ﬁaw
|

(2) fpaivaen # wH ST RIS
feafy Bt 1

(3) fraiaen JgEEET 1 &
B B

(4) FRINEEN  grdiGaett @ {HY
B B

27.

28.

29.

30.

[A]

How many cards are wused in
Rorschach Inkblot Test ?

(1) 10

2) 12

3) 15

4) 28

Which of the following is not a type
of Personality given by Sprenger in
values point of view ?

(1) Theoretical
(2) Economic
(3) Asthetic
(4) Athletic

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise
(3) Law of mental set
(4) Law of effect

Which of the following is not the

true characteristic of Adolescence ?

(1) Adolescence is transitional stage
between childhood and
adulthood.

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9206

P.T.O.



[A] [10]
ART- 11/ PART -1
A1 (R= ©F 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. foare® @M g a9 iy 35. Fr=1 ¥ @ ‘9 H w@E 78 & ?

(1) a9 o< oT¥s  Jad & (1) gdaH (2) Brl

Eﬂtﬁ %l (3) T 4) @—a
(2) TED T & T S - ,
o 5 ot 36. Slfcrareh Hel YeRd AR 7@ ©

(3) ST T 3 G'TQ' (1) STeThet &1 TeTgdl 9gd e &

(4) 39 gV T T (2) SOl A E A wEar & O
32. i gie & orger fsed T - BT

| 3) FW-F A & SrEEA

(2) AT STt 2

) (4) H orgwa fpr B 65 o8 SR @

ORI <X T B

@ 37. fd faseq # oM &Y &1 W 787
33, feim a1 gfe & o A A g ® 7

Bifex (1) s (2) arieR

(1) SS-=reT (3) e 4) e

(2) ATH-IFHEA

(3) TR 38. & A B AT HIOT :

(4) TehR-FaER (1) T& FM Fis Jhid d & B el

gl

34.2;:;1@5?‘36’%%9@1%? ©) ¥ T e B

(1) o ©2) TR (3) YA SEET &8 B H HFA B

(3) BT (4) Sfed 4) & & & A g B

Level-3/9206




[11] [A]

39. 9N F 3fc q oG fabed Bifey 43. fpa faseq & srerdivE w99 ® °
(1) FI¥T - BT TgE (1) ferdiesr
(2) Ho-TEHN - H9ER &4 (2) FANGEF
(3) FmIE - STURM qgeT (3) sTqERar
(4)F‘|Ti-r|ﬁ_zb_l§|EREF‘;lsr (4)@'@:{
40.WQT%WQEFQE3€[§WQ i & 7 IR :
P o 44. TTF % I @ FFGIT g+
(1) ToT + 3% = TERYS
(1) TREl %1 & =TI oW el g .- .
TEA HAT - A<TH (2) I + 3% =
(2) FEEHR T ST AT S ©) e
e (4) TR + 9 = utE"
(3) fom fobell ey & - ST 45. T fobew & ‘o IUEE BN IENT gOT
(4) T8 o9 R @ § - i &7
, S (1) e
41. ANREd GEAEES :
, (2) g
() fBd ad & gam d 3@ SR
e 7 g (3) s
(2) Gt & dhrgr-a T9F e (4) ST

(3) R %M Jo & FHIA B
(4) GR 3T SAHATE B I T B

42. THHE fhAT gHT a9 AT
(1) FrEmr q4kT % 9’ e © 4
(2) wBfeEr aeme § 4T @ 2
(3) o1E% HSH W 2T T© o

OEGEE FERECERICSIE

Level-3/9206 P.T.O.
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46.

47.

48.

[12]
[ 3135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to Who ...... was coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
i (4) did you say that
(4) to work this week
o ) 50. Fill in the blank with the correct
Fill in the blank with the correct f . )
fon - present perfect continuous tense :
OpHon - . He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting .
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | = the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o )
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9206

present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)



53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

[13]

57.

58.

59.

60.

[A]

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :
(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

(3) Hot was the night air that (4) point  rendered critical by
' t
(4) Hot although the night air was cireumstances
Level-3/9206 T 0.
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[14]

HET -1/ PART -1l
Y 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT TRl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Th HT AW H, 'DISTANCE'
'IDTATOEC' fer smr 2 &R
'DOCUMENT' @& 'ODDMUFTN'
forn S B, @ 3 9 e A g,
'THURSDAY' &t for@n s :

(1) HTRUDSYA

(2) HTVSREYA

(3) UHVSTEYA

(4) VIRUDSZB

FAG 10 HeX I B AN F@@l 2
Il ¥, T8 IR B R 6 HeX T
3l Y a8 q@ &t ofX 3 X =
3l T A JEANT fg & Hew d
P Ram A 8 ?
(1) uf3=™

(2) SRT-uiEd
(3) -

(4) =@

yqq a¥ § % Aa
# gha & S T
5% ' HH B S Bl AR
IV H SWEEr 79,800 o,
g H OMCH § HGE

(1) 79,800
(2) 80,200
(3) 80,000
(4) 79,600

Level-3/9206

61.

62.

63.

In a code language, 'DISTANCE' is
written as 'IDTATOEC' and
'DOCUMENT"' is  written  as
'ODDMUEFTN', then in same code
language, 'THURSDAY' will be
written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA
(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800

(2) 80,200

(3) 80,000

4) 79,600



64.

65.

66.

67.

68.

69.

70.

i M (o e S | G L L
1CV, 5FU, 9IT, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

& Fe A Bt 2 3 3 o &

(1) 27: 20
(3) 4:9

(2) 20:27
4) 9:

(2) &=

(3) 9fa (4) |gx

qul H HH S&d (SN qT U a9
H TH T W B
'HEARTLESS' ffa @@= drdfe g<af
§ fomfora feam o g & °

(D1 (2) 2

3) 3 “4) 4

s W ¥ 27% faerft oReh #
I gU AR 38% fasme # orwt
W, A 19% I R F ergw
g, @ 2T fawdt & S B gfed ©
(1) 46% (2) 54%

(3) 62% 4) 81%

fr=1 g Aoft & o wE F

20, 20, 19, 16, 17, 13, 14, 11, 2, 2
(1) 10, 10 (2) 10, 11
(3) 13, 14 4) 10,9
TF Al 90 » QUi f&em 7 13
fpt o e @ Rew & 28 ol W@
I &Y B 9R 5 HS &H W Al
B U T o ?
(1) 1v5 st /99er (2) 2 fHt /g0er
(3) 2V4 fpHt /g9er (4) 3 At /g0eT
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64.

65.

66.

67.

68.

69.

70.

[A]

Find the wrong terms of the

following series :

1CV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R
The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :
(1) 27:20 (2) 20:27
3)4:9 4 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y ?

(1) Father (2) Grandfather
(3) Husband (4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?
(11 (2) 2
3) 3 4) 4
In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46% (2) 54%
3) 62% 4) 81%
Next terms of the following number
series are :

20, 20, 19, 16,17, 13, 14, 11, 2, ?
(1) 10,10 (2) 10,11
3) 13,14 4) 10,9
A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?
(1) 1¥2 km/hr
(3) 2% km/hr

(2) 2 km/hr
(4) 3 km/hr

P.T.O.



[A]
71

72.

73.

74.

75.

76.

I 9m 1 q 100 d% F W Ol
ferear B, @ a5 fhaet 9X 3 e ® °

() 19 (2) 11 (3) 20 (4) 21

A, B Sgrg s&e C XD, E @
REEAMCHTIA T & &R
C,BA g g a = & & -4
HIT TETH &9 ¥ FT R ?

(1) A, C q 93T 8l

(2) C,D ¥ g1

(3) D,C q 921 2l

(4) E,B ¥ g1

M, T, R, K X D & ud% &I @9
AT E, M dad T @ 87 3 X D
A K § @1 81 31 9 d9u asd
T AT B B 7

(T @D B)M @R

BES)

- ~ & qY S B
3 1
[
4 3
11 1
M 2 @) 2=
11 1
3) 35 4) 3§
e q qgeq, o @ ey SEd o
F oMy H R B a= ad g,
fUer & g I8 T B Ag W 7
T i R @ g oy @
(1) 40 g (2) 3094
(3) 50 a (4) 4579

qide fRem @ R B IR IET B
frg Remd & ?
(2) aferor

(1) T
(3) uie=m 4

Level-3/9206

[16]

71.

72.

73.

74.

75.

76.

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?

(H 19 2) 11 3) 20 @) 21

A is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.

(2) CiseldertoD.

(3) Diselderto C.

(4) Eiselder to B.

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?

IO T @D 3 M 4R

HEC)
BED)

The square root of

is equal to :
11 1
1) 2— 2) 2—
(D D (2) 5
11 1
3) 3— 4) 3—
3) B “4) B

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years (2) 30 years
(3) 50 years (4) 45 years
A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East



78.

79.

80.

81.

82.

(1) 15 o & 918
(2) 12 o & 91
(3) 14 o & 918
4) 16 o & 9%

10% aiffes &9 & W Srsdial
ThlE BT X 800 BUY H TH T
926.10 &9 fhaw a¥ & s A ?

(1) 39 ) 1 a9

(3) 4v» a9 4) 2 a9

8, 15 aX 24 ¥ fauig am am
A T HE R B

(1) 120 (2) 1800

(3) 3600 (4) 6400

I 6 YT A f9hT gd, 8 Al & A

g%w%,a‘rwmﬁrrﬁm

(1) 25% @ (2) 25% &=

(3) 33%%31% 4) 33%%@1
AT % W Ted 68 W9 oM
RN & A (STeE) B & 7

(1) fepra I

(2) T G

(3) Glo A= @

(4) dlo dio THo o YA

BRATT 3G STHEH & ST D © 7
(1) M= TR

(2) HP& q8q

(3) =X P

4) QI 9
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77.

78.

79.

80.

81.

82.

[A]

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes
(4) after 16 minutes

In how many years will a sum of
Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?
(1) 3 years (2) 1%z years

(3) 4Y2 years (4) 2 years

The least square number, which is
divisible by 8, 15 and 24 is equal to :

(1) 120 (2) 1800
(3) 3600 (4) 6400

If the selling price of 6 pens is equal
to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit  (2) 25% loss

(3) 33 % % loss (4) 33 % % profit

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao
(4) T. V.S.N. Prasad

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang
(2) Kumud Bansal

(3) Chander Trikha
(4) Suraj Bhan

P.T.O.



[A]
83

84.

85.

86.

87.

88.

89.

90.

. BREem ¥ W @He @ Hed el
arafted § 7
(1) ®UEEE (2) aQNTa
(3) &I (4) T®
HTaeT Gdl § W@ Ysh foerdr @l
BRI TR &N &l S arl JOeRe
i 2
(1) & *3g
(2) & Fg
(3) TEER @
(4) 3% g

1857 % fomle & 3N Asas &M
foreedier @I o ?

(1) 99 R (2) s=go $89
3) TeH A (4) BB

g T, S % T g ©
(1) AT (2) afee

(3) A& 4) 3=

‘TeFpy @ RO & B9 N H
Reg 2 7

(1) JeT% (2) deg

(3) HEIA (4) DT

R fagraT, S st 2019 &
A B 9 e H W R

(1) 124t (2) 134t

(3) 144t (4) 154t

M BMe @ B & H fhE TS
@R § T 6 T 8 7

(1) ZTEE e

(2) TS TS

(3) elE T T T S1as

(4) HME< e

fre 9T & IR AW & or ?

(1) "e=TTe
(3) HIA

(2) ST
(4) GFg
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83.

84.

85.

86.

87.

88.

89.

90.

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad  (2) Sonipat
(3) Gurugram (4) Rohtak
The award is given by the Haryana

Government to the gold medal winner
in the Commonwealth games :

(1) Three crore

(2) Two crore

(3) Seventy Five lakh

(4) One & half crore

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton (2) W. Eden
(3) Adam Loch (4) Hudson

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang (2) Sahibi
(3) Dohan (4) Indori

In which district of Haryana "Tikkar
lake' is located ?

(1) Rohtak (2) Panchkula

(3) Karnal (4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12% (2) 13"

(3) 14" 4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh (2) Ambala

(3) Kaithal (4) Sonipat
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AT - IV / PART - IV

gfrerd / HISTORY
3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

1 B9-a1 U ‘SuiasER’ &

a8 7 §?

(1) ‘IuasEE’ & g T omi®
T % T gE 3 W I
WU T

(2) ‘SUMATER & AY T g AW W
39 T ail B QR HE B
fo omfave wnfia & om

(3) 9Ra s fafesr Iufasr on, s
ToHias-aieie fedl & fog e

0|
(4) fesitell SufvasEE & 0% a9d®
[
frfefag & @ &9 9Rg § aqmded
AR q TS 787 o1 7
(1) dlo Hio snsh
(2) THo Tfo (M
(3) T AR A
(4) TTFRT ITETE
Freifafad & & @@ g™ gafad
7& B 7
(1) el $71 @ — 3o e
(2) T= FAR 99 — FFl HeT
(3) WEA@ S — Fo e @

(4) GERM §9

&
— &g afdT W §q
EHAT

orl-fUeg @ aieE TR R g @
s o ¢
(1) TH
(3) g

(2) "=
4) 9
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o1.

92.

93.

94.

Which one of these is not true about

'Colonialism" ?

(1) Colonialism means acquiring
control over another country for
economic exploitation.

(2) Colonialism means establishing
control over another country to
educate its inhabitants.

(3) India was a British Colony whose
resources were utilized to serve
political-economic interests of
England.

(4) Disraeli was
Colonialism.

a supporter of

Which one of the following was not
associated with the Communist
Movement in India ?

(1) P.C. Joshi

(2) M. N. Roy

(3) Ram Manohar Lohia

(4) Muzaffer Ahmad

Which of the following pairs is not
correctly matched ?

(1) Shyamji — Indian House
Krishna Verma
(2) Barindra — Bhawani Mandir
Kumar Ghosh
(3) Madan Lal — Murder of
Dhingra Curzon Wyllie
(4) Khudiram Bose — Bomb Attack on
Lord Hardinge

The renowned city Machu-Picchu
was the centre of which civilization :
(1) Aztec (2) Maya
(3) Inca (4) Arab

P.T.O.



[A]

95.

96.

97.

98.

1 & @ 9eeare’ 3 fowg & -
HF TIT B ?
(1) AFaaR 9 Hisd &9 sl

(%Wﬁgﬂﬁ%ﬂq%mﬂmw
S S fa

(3)Wﬁﬂ%%ﬁﬂ?%mﬁwﬁ
ATt e

(4) AFEARE 7 TS 9 949 TeR @
QNS 1 ST BT AT B

UREl TS gUR®  TeEel THo

AR ST AR I

(1) 99 faar & faes

(2) TEAR & 5s

(3) &1 g a9 % 5=

(4) fagar gHAldarE & fes

ey S&6H H HAT BE e

qifd & ?

(1) gicrge

(2) Sme™T

(3) T% B T T

(4) TehTe-3TeT-gare

frifafag gesmell & @2l fafteey #

FARYT PHINTT :

i. AR ST % 99

ii. SRR H IS

iii. &% B ga

iv. ZAEERE S aFg

v. BT P HABA b AN B WY
T AU S HREE Y

s AT
et el § Sux v
(1) i, ii, v, iii T iv
(2) iii, i, iv, i F& v
(3) iii, v, ii, i T iv
@) i, iv, v, ifi T ii
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95.

96.

97.

98.

Which one of the following is not

true about 'Humanism' ?

(1) Humanism is a man centric
philosophy.

(2) Renaissance in Europe gave
birth to Humanism and Logic.

(3) Humanism found expression in
the literature of Shakespeare.

(4) Humanism has ended all forms
of exploitation from society.

Parsi Social Reformer Behramji M.
Malabari carried on his campaign
against :

(1) Child Marriage

(2) Polygamy

(3) Female Infanticide

(4) Widow Remarriage

The story Sohrab-Rustam is narrated
in the epic :

(1) Iliad

(2) Shahnama

(3) One thousand and one night

(4) Kitab-al-Bukhala

Arrange the following events in

chronological order :

1. Death of Mir Jafar

1. Battle of Buxar

iii. Black Hole Tragedy

iv. Treaty of Allahabad

v. Departure of Clive to England
after his first term as governor of
Calcutta

Choose the answer from the codes
given below :

(1) 1,1ii, v, iii and iv

(2) iii, ii, iv,iand v

(3) iii, v, ii,1iand iv

(4) 1,1v, v, iii and ii



99.

100.

101.

102.

103.

104.

frer 9§ aF-a
qMEE O R Rie
oo foRar ?

(1) STHET

(2) SqET

(3) STATSEN Racreil
(4) Je™E Jh
178 st § W | wdite
BN artl %] Hie-ar o ?

(1) TH FERT - (2) ol a8

(3) i (4) M

A B [MTHaRad @ § O
HE-AT GG Tadiaar T
JETET B 7

(1) M= (2) &

(3) HXamt (4) Tga

1923 ¥ &g fqar 6 &1 2l & 9
get o ?

(1)!331?@%?

(2) T\ @

(3) TTH T qvS

(4) qave ud T

Frfefed & @ 1997 sl & A9 |
REISCIEEE G
() &2 e (i) = {RI
(i) e @EET (iv) WEE

B B T H TE FWN
E

?1_;, (i), i), (iif) 9 (iv)
(2) (i), (i) AR (iii)
(3) (@), (ii) 3R (iv)
@) (@), (iii) 3 (iv)

BN e e off
() Tl & (2) 9F=ER &
(3) ISHhT q  (4) AEGHen 9

T TR
AR @ faes
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99.

100.

101.

102.

103.

104.

[A]

Who was the first Medieval ruler to
take the title of "Zille Ilahi" ?

(1) Akbar

(2) Balban

(3) Allauddin Khilji

(4) Muhammad Tughlaq

Which was the most important
commodity exported from India in
the 17th Century ?

(1) Spices (2) Cotton textile
(3) Indigo (4) Saltpetre

Who among the following compilers
of Rigveda is an example of social
mobility ?

(1) Gautam
(3) Bhardwaj

(2) Atri
(4) Ailush

The Corfu Dispute of 1923 arose
between which two countries ?

(1) Greece and Germany

(2) Greece and Italy

(3) Greece and Poland

(4) Poland and Turky

Who among the following were socialist
leaders of the 19th Century Europe ?
(1) Robert Owen (i1) Charles Fourier
(i11) Saint Simon (iv) Reybard

Select the correct answer using the
code given below :

Code :

(1) (1), (1), (iii) and (iv)

(2) (1), (i1) and (iii)

3) (), (i1) and (iv)

(4) (1), (ii1) and (iv)

'Manorial System' was related to :
(1) Capitalism (2) Feudalism
(3) War fare (4) Architecture

P.T.O.
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105.

106.

107.

108.

109.

FAHA b @AY AAIE H (1920)
FoTeH  STHEAN SR & J&ad 9E
QO o1, Sl S fha bl ?

(1) A Aee

(2) AR "e®

(3) WM A

(4) e

Fr=iifed & IR #F9gER RT TQ
%l & AR T TART

i. gen |l
ii. &Y e smm
iii. ggu feua

iv: e RsaRETEE SN

(1) m,11,1v, 1

(2) ii, i, iii, iv

(4) i, i, i, iv

Frefafad & @ Rhg 9Ra &t deaui

Zh\_ﬂ:ﬂ\?aﬁ Sl TR HET STl % ?

(1) FEamer 2

(2) do Hio FEHISH

(3) Hlo gsHuTH

(4) s R

M= & & de-ar ‘oTiie e &

fva & a9 7@ & 7

(1) o Frepes & o A
TR & 3708 P SRR ol

(2) &t ® epred 9RG H HRRA
TRE A & aReERd &
qo T U9 & WY § g

(3) TEEE AN H oMiiE R
%ﬁmaﬁiﬁﬁa%ﬁw

|
(4) onfde fepee Riea § 9Ra &
SAaTafirs SToeT 1 e &

LAY H G 94T g 69 FerEes §
SEIRIEI |

(1) 1605-1635
(3) 1660-1690

(2) 1618-1648
(4) 1680-1710
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105.

106.

107.

108.

109.

Name the President of the special
session held in Calcutta (1920) in which
the resolution of Non-cooperation
was passed ?

(1) Motilal Nehru

(2) Jawaharlal Nehru

(3) Lala Lajpat Rai

(4) Gandhiji

Give the proper sequence of the
following by using the codes given
below :

1. Hartog Committee

ii. Hunter Education Commission
iii. Woods Despatch

iv. Sadler University Commission
Codes :

(1) iii, i, iv, i

(2) ii, i, iii, iv

(4) 1, 1i, iii, iv
Who among the following is
regarded as the architect of Indian
Five Year Plans ?

(1) Chintamani Deshmukh

(2) P. C. Mahalanobis

(3) C. Subramaniam

(4) Verghese Kurien

Which one of the following is

incorrect about 'Drain of Wealth' ?

(1) The Drain of Wealth meant transfer
of India's Wealth to England.

(2) The capital was drained in the
form of salaries and pensions of

civil and military officials
working in India.
(3) Dadabhai Naoroji  presented

theory of Drain of Wealth in
British Parliament.

(4) Drain of Wealth theory exposed
the colonial exploitation of India.

During which period the Thirty
Years War was fought in Europe ?
(1) 1605-1635 (2) 1618-1648

(3) 1660-1690 (4) 1680-1710



110.

111.

112.

113.

114.

115.

b3 11 ) s ) G
(1) &= g

(2) @A

(3) ¥

4) fea™

“GRIE-E-TNA Bl AGH DI oA 7
(1) TTEEN 7o

5 sﬂaﬁ@ el

3)

(4) wa Fem

1115 U TR A< o | e P G
g off ¢

(1) e
(3) ufcam<e

‘g P Bvgd UEItqUeE 9Ra |
Th TR H U9 g% grEd ol 3Hh
GEIUs 9

(1) QIfST9RT it

(2) To THo TEYS

(3) THo Tqo ¥

(4) THo WHo st

e 3P F AT @R W)
Y THIAHR I QUi el S o1 ?

(1) 1833 &t (2) 1853 &t

(3) 1857 8=t (4) 1793 &t
T e R wE oA
qgw%aqﬁzsw (A) R TET FIT T
R)E :

FREET (A) : JERRE-I T FHaed
CI IS [

7% (R) : 98 SO0 9°9 & oW TH
& fedR AT =1 o

STFT & FEAl B G ¥, Frefolad
T B9-a1 g ® 7

(1) (A) & & Wg (R) T 8

(2) (R) ®El B W (A) Tod &

(3) (A) X (R) a1 @& &

4) (A) R (R) 4T Tordl &
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110.

111.

112.

113.

114.

115.

[A]

'Daimyo' in Medieval Japan were :
(1) Local feudal lords

(2) Businessmen

(3) Military class

(4) Peasants

Who was the author of 'Futuh-us-
Salatin' ?

(1) Nasiruddin Mahmud

(2) Isami

(3) Amir Khusrau

(4) Hasan Nizami

The institution which administered
ancient Rome was :

(1) Senate (2) Congress
(3) Parliament (4) Diet

The 'Bombay Mill Hands Association’
was the first of a kind of trade union
in India. It was founded by :

(1) Sasipada Banerjee

(2) N. M. Lokhande

(3) M. N. Roy

(4) S. M. Joshi

When did East India Company lose
its monopoly completely over Indian
trade :

(1) 1833 A.D. (2) 1853 A.D.
(3) 1857 AD. (4) 1793 A.D.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :
Assertion (A) : Pulakeshin-II defeated
Harshvardhana.

Reason (R) : He wanted to expand
his empire in north India.

In the context of the above two
statements, which of the following is
correct ?

(1) (A) is true but (R) is false

(2) (R) is true but (A) is false

(3) Both (A) and (R) are true

(4) Both (A) and (R) are false

P.T.O.
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116

117.

118.

119.

120.

. TR ST B Swd TAveH R T
Hgams?

(1) HarIfg

(2) S

(3) SAreTengf~YTgE

(4) PeIdS UG

frfafeg & @ 98 TR W
qTEhl-Z-THT 78 T o ?

(1) ®RHe (2) BEH

(3) F [ (4) HRIT
fFricied ®§ & e AMegey TR
Sl T 4t ?

(1) TXRigas 1

(2) Jorbide 11

(3) W= A

(4) g=X g

FMfaRad JemMYs Td Sl orem!
T -1 I gAld 78 e °

(1) a8 — i

(2) i — HiESHI
(3) AHH — TYA
(4) 9= — Hivaey

WEeqE ToMEl % AERAT & 9
fegemel T & T e oo ?

(1) =g
(2) UMER

(3) 3TH
(4) ITASYR FeT A=
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116.

117.

118.

119.

120.

In which text the four Ashramas are
mentioned for the first time ?

(1) Kathopanishad

(2) Kenopanishad

(3) Jabalopanishad

(4) Kaushitaki Upanishad

Which of the following ports was
not visited by Vasco-da-Gama ?

(1) Calicut (2) Cochin

(3) Kannur (4) Mangalore
Who among the following was the
founder of Mamallapuram city ?

(1) Narasimhavarman I

(2) Pulakeshin II

(3) Rajendra Chola

(4) Sunder Pandya

Which of the following pairs of

Mahajanapada and their capital is
not correctly matched ?

(1) Vatsa — Kaushambi

(2) Avanti — Mahishmati

(3) Ashmak — Rajpura

(4) Panchala — Kampilya

Where was the capital of Hindushahi

kingdom at the time of Mahmud
Ghaznavi attack ?

(1) Kabul

(2) Peshawar

(3) Attock

(4) Udbhandpur or Waihind



121.

122.

123.

124.

125.

FrAL YRS e Tl X R B ?

(1) S99 &

(2) Sqar &t
(3) BT &l

(4) BI& FHRTHY &
Tl St fhar T o
(1) &Rl & |

(2) frEFl % |y

(3) TFT FYEE & AT
(4) JHEH & Y

T e § geivad e |
q - JH T 7

(1) 4R offqer — dIEN & 59
2) AR & — g e
(3) gaitw — T ||

(4) TRR-T-SAT — Heerar qiesh

frfofag & & ®M-w 1857 # Hifd
& STIRTHT o1 ?

OEIEREEE

(2) gl famis

(3) SegeT

(4) 9T fomiE

“oft, W AR AT WM AN
frfafag & 9 fhae @ o B 7

(1) SiEEl it
(2) SHRET Hild
(3) &9 @ il
(4) 99 P TEHEARET HitT
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121.

122.

123.

124.

125.

[A]

The archeological site of Kayatha is
situated on the banks of which river ?
(1) Banas River

(2) Betwa River

(3) Ken River

(4) Chhoti Kalisindh River

The Permanent Settlement was made
with the :

(1) Zamindars

(2) Peasants

(3) Village Communities

(4) Muqaddams

Which of the following pair about

Mughal Administration is not

correctly matched ?

(1) Mir Atish — Head of the artillery

(2) MirBarr — The superintendent of

forests

(3) Mushriff — Revenue Secretary

(4) Nazir-i- — The Auditor General
Buyutat

Which of the following was the
precursor of the Revolution of 1857 ?
(1) Indigo Revolt

(2) Sanyasi Revolt

(3) Ulgulan

(4) Pabna Revolt

The slogan "Peace, Land and Bread"
is associated with which of the
following ?

(1) French Revolution

(2) American Revolution

(3) Russian Revolution

(4) Communist Revolution of China

P.T.O.
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131.

WISl UEl ° Hetad YAy & 9 H

ot femar w4t

(1) a8 omiiceh  Fgad W< B
Trear ot

|
(2) T& 1919 & AT B FHAARA!
T TEIHIST HEAT ame
(3) T8 TXHR § HEANT HAT Al Al
(4) 98 TR | Fgiad =l 4l

1§ PF-A1 BU9 TeEs G @

g § g 78 ' 7

(1) TeEs €Y fafes ammy & R
P Teh HELOl TGY A i

(2) HeEd Gy ofie aur asht <emed
% Hed g3 ol

(3) =i Tome S Il (S A)
B AU T F WA Bl AAN
T & o

(4) 3 o 7 STk w9 H WA
gl SIS O W FF ISMT
Wi

TRRET TG e i & Rea e
q qefad o ?

(1) RiegRar fre

(2) Fean o

(3) GhEhar fo

(4) LT o

TR Je7E & @Y RSl & e
Feld o ?

(1) it (2) @

(3) W (4) R
g fasa & TeMaH  JREad
AR o :

(1) ia (2) S

(3) &3 4) K

Beff X IH-CSRl R g
e 9 g o 7

(1) @ (2) Geuad
(3) RIS (4) fasa
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126.

127.

128.

129.

130.

131.

The Swaraj Party decided in favour

of the council entry because :

(1) It wanted to gain political
experience.

(2) It wanted to expose hollowness
of the Act of 1919.

(3) It wanted to cooperate with the
government.

(4) It wanted favour
government.

Which one of the following statements

is not true about Subsidiary Alliance ?

(1) Subsidiary Alliance was an
important ploy for the expansion
of British Empire.

(2) Subsidiary Alliance was concluded
between the English and the
Native Rulers.

(3) The Native Rulers did not allow
English Residents to reside in
their territory.

(4) The Native Rulers accepted to
bear expenses of the English
Army stationed in their kingdom.

from the

Maharaja Ranjit Singh was associated
with which Misl of Sikhs ?

(1) Singhpuria Misl

(2) Kanhaiya Misl

(3) Sukarchakiya Misl

(4) Shahidi Misl

Prophet Muhammad was related to
which of the following Arabian tribes ?
(1) Mirza (2) Khan

(3) Quraysh (4) Giljai

The greatest library of Bronze Age
world was situated at :

(1) Nineveh (2) Babylon

(3) Harappa 4) Ur

To which Sufi Silsila did Mirza
Mazhar Jan-i-Jahan belong ?

(1) Qadiri (2) Suhrawardi
(3) Nagshbandi (4) Chisti



132.

133.

134.

Frefoied & @ SiF-a1 & ‘Toue &

fowg & 99 7@ ® ?

(1)§ﬁ,aﬁ,wawﬁawwﬁ
|

(2) T Thew SR () qn
Faft (dm|) & == qgod &
fog & & o

(3) g AAifdewarE T SR &
T G I B

(4) JETEl B AR I Hifeced

3 ‘arfare’ § o A R
AT HISTT
Q-1 -1
(v R ) (vl ARR)
(A) o= T () "eEigRy  Red
TS

(B) & & (i) ®dl Rd Sge
Yer HieT
(C) TI¥E Y8 (iii) s e
P HEX
(D) 7 {8 (iv) HeTug fReyd
THITHH HieT
%< -
A B © @
() av) @) @G @)
(2) (v) (i) @G) @)
(3) av) @  @G) (1)
@) @  Gv) @G (1)
gtﬂ%ﬁ%m 4§ aea gaea 78t
?

(1) BT S — 1875

(2) T famie — 1810
(3) agu fosE — 1808
(4) AEdaEl faxie — 1844
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132.

133.

134.

[A]

Which one of the following is not

true about 'Purusharthas' ?

(I) Dharma, Artha, Kama and
Moksha are four Purusharthas.

(2) These were conceived to strike a
balance between Pravritti (Bhog)
and Nivritti (Sanyas).

(3) Purusharthas show a synthesis
between materialism and
spiritualism.

(4) The first mention of Purusharthas is
found in 'Arthashastra’ of Kautilya.

Match the following :
List-I List-IT
(Pallava Temples (Representative
Style)
Mahendra
Group

Temple)
(A) Rath

at Mahabalipuram

(i) Dharmaraj

(B) Nandi Group (ii) Baikunth Perumal

Temple at Kanchi

(C) Rajasimha (ii1) Kailashnath
Group Temple at Kanchi

(D) Mamalla (iv) Rock-cut temples
Group at Mandagapattu

Codes :
A B © @

(1) Gv) @G @G @)

(2) Gv) G G @)

3) Gv) (@© (@) @3D)

@ @ Gv) @) (1)

Which of the following is not
correctly matched ?

(1) Deccan Riots — 1875

(2) Ramosi Revolt — 1810

(3) Veluthampi Revolt — 1808

(4) Sawantwadi Revolt — 1844
P.T.O.
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137.

138.

139.

ARECOR T & R F Fpfemed

Fo W R BT -

(o7) g Forrfor oftem ofren § @R
a9 9@ 4 79 g9 g & Iu
e e

(3) IR TSR T A1

(1) Faa FI (31) T B

(2) B9 HoF (9) T T

(3);3}5594;(3;):[—@513594:[(3)@
|

(4) aFl HIT A &I
EHISIGCEEEISTIS IR
(1) 9EarEr &
(2) 7 TRAT %

(3) 7 gAY %
(4) ITA STHIH B

1 & @ B SErR @rie REeR
e o ?

(1) Ha<d (2) fase™

(3) #HreT (4) TTEq

e WY § ‘R-u-oer e fawm
B TG o ?

(1) enfdes T s

(2) i

(3) fay

(4) T (9 T afea)
Frfiad & & SF-a1 g T8l 78] o
(1) geuael — Segel geuadl

2) FiE  — ' g

3) PR — ' Fgd
(4) TREE — T Sl SeTe
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135.

136.

137.

138.

139.

Consider the following statements

about Outremer States :

(A) These were created in Western
Asia by the Christian armies
after the first Crusade.

(B) There were four Outremer States.

(1) Only Statement (A) is true.

(2) Only Statement (B) is true.

(3) Neither statement (A)
statement (B) is true.

(4) Both the statements are true.

nor

Mongols were the inhabitants of :
(1) Siberia

(2) Central Asia

(3) Central Europe

(4) North Africa

Who among the following was not a
painter during the reign of Jahangir ?
(1) Dasavant (2) Bishandas

(3) Manohar (4) Madhav

In Bahamani Kingdom, 'Sadre-i- Jahan'
was the chief of which of the
following department ?

(1) Religious and judicial

(2) Military

(3) Foreign

(4) Revenue (including land revenue)

Which of the following pairs of Sufi
orders and related saints is not correct ?
(1) Suhrawardi — Shahabuddin

Suhrawardi

(2) Qadiri — Shah Niyamatullah

(3) Firdausi — Shah Abdullah
Shattari

(4) Nakshbandi — Khwaja Baqi
Billah
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142.

143.
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145.

S e fEmew § § aF
Ui Sifeardl =T S 8 7

(1) T%HY HreaE
(2) T FHEY
(3) TSI HITRAT

(4) GoT4 SR
gy’ i & e 3 R
e B 7

(2) AT

(1) g
(3) T (4) STdds

RSEANTE I EG I Bt (AR R Sk

fpd fawa | wwfeeq o ?

(1) gemde FaHmEe

(2) &9 FrawE

(3) aTEIH

(4) e

wszaaj%h@ﬁwﬁmﬁ@

o W % FPER gre &l

fefor gat & ¢ ” o

(1) o4, g&™, €, F,
WW ag

(2) S, JE, Fd, AR, &6 AR
aTe

(3) S, JEW, ag, 9, ST 8K
fe

(4) S|, @, ag, @6, 9 @R
fe

Hg deRE | h9 A B ALEAr
¥ IrEe & or ?

(1) St (2) SIS

(3) Afdel (4) g

Rrgard & Frefafad & 9 B e«
B G qETEErd 9ot 3 B o ?

(1) ARG (2) &8
(3) duA (4) AreTenee!
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140.

141.

142.

143.

144.

145.

[A]

Who among the following Buddhist
period thinkers is  considered
thoroughly materialist ?

(1) Pakudh Kachchayana

(2) Purana Kassapa

(3) Ajit Keshkambalin

(4) Sanjay Bellathiputta

'Vajasneya' belongs to which of the
following Vedas ?

(1) Rig Veda (2) Sama Veda
(3) Yajur Veda (4) Atharva Veda

'Dastur-ul-Amal' was related to
which subject in Mughal India ?

(1) Administrative Manuals

(2) Army Manuals

(3) Architecture

(4) Painting

Identify the correct option of the six
substances, which as per the Jain
philosophy created the universe :

(1) Jeev, Pudgal, Dharma, Kal,
Vayu and Agni

(2) Jeev, Pudgal, Kal, Akash,
Dharma and Adharma

(3) Jeev, Pudgal, Vayu, Bhumi,
Akash and Agni

(4) Jeev, Pudgal, Vayu, Dharma,
Prithvi and Agni

Poet Chandidasa contributed to the
popularity of which language ?

(1) Bengali (2) Brajbhasha
(3) Maithili (4) Awadhi

Which of the following Indus Valley
Sites was discovered by Rakhaldas
Banerjee ?
(1) Alamgirpur
(3) Lothal

(2) Harappa
(4) Mohenjodaro

P.T.O.
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146

147.

148.

149.

150.

. 3GFIR % @Wad Id o9 B TP
g
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(2) Tt
(3) T
(4) e
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&g TR % U et @ 7

(1) e
(3) =il

(2) e
(4) &
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grfee © °
(1) 95 (2) 59
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(A) WM Al (i) TEE
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146.

147.

148.

149.

150.

The independent Yadava Kingdom
of Devagiri was founded by :

(1) Prolaraja II

(2) Ganapati

(3) Bhillama

(4) Singhana

Which one of the following metal
was responsible for the second
urbanization in india ?

(1) Iron
(3) Silver

(2) Copper
(4) Gold

'Bhagwati Sutra' is related to which
of the following religions ?

(1) Buddhism (2) Jainism

(3) Hinduism  (4) Sikhism
Match the following :
List-1 List-11
(Excavators) (Sites)

(A) Dayaram Sahni
(B) H.D. Sankalia
(C) Alexander Cunningham (iii) Nevasa
(D) Surajbhan

(i) Rakhigarhi
(i) Harappa

(iv) Taxila

Codes :

A B ©) D)
(Hh @ @) @) (@)
(2) ) @) @Gv) (@)
(3) ) @ @ @)
@ ) (@ @G Gv)

Which of the following temples is
not located in Khajuraho ?

(1) Dashavatara Temple

(2) Chausath Yogini Temple

(3) Chaturbhuj Temple

(4) Kandaria Mahadev Temple
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